Algebra2  Bellwork  Thursday, November 13, 2014

Fill in the blanks to complete the square

1. 32 = 8x == i )? 2. x? + 40x = (x )2

3. x*-6x = ix )?

4. An object is shot into the air. The following equation gives the height of the object as a function of time
since launch. ‘

. [b2 —
h(t) = —16¢% + 1441 + 65 Quadratic Formula just in case you need it: x = sk é’a dog
a) Find the maximum height of the object and the time it takes to reach that height.
b) Find the time it takes the object to reach a height of 200 feet.
¢) Find the time it takes the object to reach the ground.
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Fill in the blanks to complete the square
1. x22-8 4l = =4 ) 2. x2+40x +400 =(x_ 420 )?

3. x% — 6x ’\“C] =ix =4 P

4. An object is shot into the air. The following equation gives the height of the object as a function of time
since launch.

b+ Ih2

h(f) = —161* + 1441+ 65 Quadratic Formula just in case you need it: x = Lk ga Hag
a) Find the maximum height of the object and the time i't takes to reach that height.

’:b, - i)‘iﬁ‘_ =4 \,)(L{ﬁ) = 3¢9 IIN 4.8 sec B owetl) reach

287 2o o max Wt of 3594+
b) Find the time it takes the object to reach a height of 200 feet.
200 = It +HIYYE 45 b*-dac= 12090 - 14+ Yiose

O = ~Ibt® f1ugt —i3¢ -3

c) Find the time it takes the object to reach the ground.
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